Quantitation Report (QT Reviewed)

Data Path : Z:\SVOASRV\HPCHEM1\BNA E\DATA\BE121518\

Data File : BE098479.D

Aca On : 15 Dec 2018 19:22

Operator : SJ/JU

3?22'6 i J6405-11 DUP03-20181210
ALS Vial : 13 Sample Multiplier: 1

Quant Time: Dec 16 02:54:22 2018

Quant Method : Z:\SVOASRV\HPCHEM1\BNA E\METHODS\8270-SIM-BE121018.M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION

OLast Update : Mon Dec 10 14:59:55 2018

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) 1.4-Dichlorobenzene-d4 7.86 152 785 0.40 nag 0.00
7) Naphthalene-d8 10.66 136 3293 0.40 ng 0.00

13) Acenaphthene-d10 14.53 164 2128 0.40 ng 0.00
19) Phenanthrene-d10 17.28 188 5522 0.40 nqg 0.00

27) Chrysene-di12 21.46 240 6350 0.40 ng 0.00

34) Perylene-di12 24_.00 264 6071 0.40 ng -0.01

Svstem Monitorina Compounds
4) 2-Fluorophenol 5.46 112 350 0.19 na 0.01
5) Phenol-d6 7.06 99 278 0.11 na 0.01
8) Nitrobenzene-d5 9.04 82 1119 0.37 na 0.02

11) 2-Methvlnaphthalene-d10 12.27 152 2434 0.45 na 0.00
14) 2.4.6-Tribromophenol 16.02 330 317 0.41 na 0.00
15) 2-Fluorobiphenvl 13.15 172 3876 0.43 na 0.00

25) Fluoranthene-d10 19.30 212 34140 0.48 na 0.00

29) Terphenyl-dl4 19.89 244 6910 0.45 ng -0.01

Target Compounds Qvalue
2) 1.4-Dioxane 3.36 88 5878 4.330 ng 94

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Abundance TIC: BE098479.D
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